@ x2y< 9ol 2

© A% x2t R LS %
© AA% 19 k2] A4 y
® Al xkm 2 447 Ft 7 A ykm?

@ A4 xQ wigy




® (3, 0)



> =k
LA



4. A H0(0, 0), A(=2, 5), B(a, —-4)7F L&A Hofl A2, a ©] ZHS
oozt

Bea-






@ -12 B 12



e A5y = f(x) ] B e E?
yl\

AV | RO | R

— R R



wo]7F 24 cm? Q1 4F7He o] Wi o] Zo]

o, x 9}y o T AL

1
® y=24x @ y=48x ®y=—x
24 48
@y—— ®y=

ok



A 2] (m)

3} 5499 Fel7] A% 7]

oL N\ - - - - - -~ «
I =
KN - ™
<35 S
[0e]
_nuv%ﬂ_.w_m
P 5 X W
Bk o T
%ﬁﬁﬂ
T T
T B W
\UlﬂAqu‘.Ol
_.EﬂumMmmo
E__u__.oqo,mﬂ_._._o
ﬂﬂiﬂ .
2l me A
O_.._JILE_l,I‘MI
ﬂEWé__M.qou
P
8
e T
dl,D‘.mEn_uﬂL
—_— = =
1rﬂ01_|
T T K HE
W= ol B



y=-" ) F4gkel WSk 1<y <6 2 o, x9] WSk



11.

D y=3s @ y=2x+5

@ y=x+2 ® y— 254



12. o952 A A(=3,4) ol gt A7 FollA &2 A7

@ xFol W& S410] Fuf il o] FEL 30let,
@ yZol sl ohy<l gl FEL (3,-4) oIk,

® A (3.4)8k9) A2} golet.

@ A 4R Hole,

® A A9 yFHEE _30|c}.






14.

6

ruzQ

x(a > 0)°] x° H7F -2 < x < 20]1L,
o, a+ b 9] g otolet,






16.

-— 4 T 9ol 3

220 494 AZ=9

L_

JE A (x, y) FollA x ety 227}

® 8 7f ® 10 7f @ 12 7§ ® 14 7



o_e

0 o, ab O] Zk

x+2a ol Wiste] f(-1) =5, f(b)

@ -16 3 —-17 @ —18 3 -19

@D =15



18. f(x) =2x+a°lA £(5) =8 W, f(-1) + £(1) 2 FH2?

D -1 @ -2 3 -3 @ —4 3 -5



® -4<x<2

@ -4<x<-2

—4<x<?2



20. SEFEA] A A A(-1,1),B(2,0), O(1,3) # 0]7017 423 ABC
o ol

@D 2 @ 25 3 35 @ 4 3B 5.5



21.

o 1> L

O
=
2_
=
y=

)
@ -

A=
A

o % 22z ol ek
et sty ©of Ui

a'O]'EHaqu_J%);O‘?

@ -10

®

-25

® -15

)
T~ T
o

=

Sy



22. The TP OPL y— gxeq Jemolth. A0PQ©] Hol7} 27
uj, 4 P o] ZEE?

yl\
_____ P
0] >
Q 7
@ P(2,3) @ P(2,6) ® P(3,6)

@ P(5,8) ® P(6,9)



Sto] f(2) = a2 W, g(a)

x—3°f of

flx)=-2x+1, g(x) =

2~
s

oA

bk

ol

‘ol

® =10

@ -8



24. ©hg el 4 P 241219 ABCD 9] 54 £41ch 4 P
HEE (a,) 20 T W, - b9 Fro] A7 B 1] 30+ 269] L
Foh?

yl\

A D(3,5)

B
(-1,-1)




S

.;L

3
X y=-—ux
s

=
=

1< O
T
-~ ol
T+ 5
L
JoH o
uE 5
5 .
'
DU
Tod
O
= (@2
N ar
>
AN
‘w 7_| —~
K oo &
oy mm
A4
ca Al
A
ol
"R O AT

25.



